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A= {x:x+3>16},

B = {x: |2x| <30},

C = { x: xis an integer}.

Find the number of elements in
AN BNC.

5A7
X B

4AC6
If A > C, find the value of A.

If a is the units digit of
220I6 +020[6 +120I6 +6201(\
find the value of a.

9=

Find the remainder of 6° divided

5

9=

If2—iisarootof x*+cx+d=0,
where ¢ and d are real numbers,

6

A

Given that the polar coordinates of
A and B are (3, 120°) and (4, 210°).

VR4

Given
¥ +2=plx—1)(x-2)+q(x—15)+r.
If 7d =p + q + r, find the value of d.

AR

If the number 301.02 is written in
base four and the digit 2 has the

1
value —, A=?
A

9

A+

If x* = y’and a =4log, x,
find the value of a.
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AN

If the number of ways of selecting
2 representatives from a team of n
members is 55. Find the value of 7.

find the value of d.
12

A+

The maximum value of

83x” —166x+275 is

4x* —8x+20

Find the area of AOAB.
+_

a’=-3a+2
Br=-3p+2

where o # B. Theno’ +B° =

Given that {

E 14
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Given that AE : EB=1:3,
AD:DC=4:3.

If the area of ABDE =6,
the area of AABC is .

15

+=

If the graph of y =x? — 1 is
translated 5 units to the right and
then reflected about the y-axis, the
resulting graph is y = px* + gx + r,
find the value of p + ¢ + 7.

4

4 D
If the area of trapezium ABCD is

192 cm? | find CD.

Given that f(x +3) = 2x* - 3x - 27.
Find the remainder when f(x —1) is

18
+A

Let T(n) denote the maximum
number of regions of n lines
dividing a circle.
T(1)=2,T2)=4,T3)="7. .....
Find the value of n if T(n) = 172.
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T+t

How many trailing zero are there in

P 20

+N\

e
Find the number of shortest
routes from P to Q.

21
+7

Find the total number of positive
integral solutions of the equation

If the radius of the inscribed circle
is 4 cm and the perimeter of the
triangle is 52 cm, find the length of
the longest side of the triangle.

23
RE

oand [ are the roots of the equation
x* —x—11=0. Find the value of

divided by x.
24
gu g

The lengths of the sides of a
right-angled triangle form an
arithmetic sequence.

If the length of the hypotenuse is
10, find its perimeter.

25

=

A semi-circleﬂ with radius 2.5 is
inscribed in a right-angled triangle
ABC with centre O lying on the
hypotenuse 4C of length 10+/3.
Find the area of A4BC.

3

the product 1 X2 x3 X ... x 80 ?
, gL
y,

ABisa téﬁéént to the circle at T.
O is the centre, AODC is a straight
line with OD = CD, ZCBD = 32°
and ZBAC = x°. Find the value of
X.

27
A

Given that xyz = -555, where x, y
and z are distinct integers.
min(x+y+z)

-7

x+y+z=8.
[N 28

=

The numerals and the letters in the
triangle represent the areas of the
six smaller triangles. Find the value
of x +y.

29
Ht

Given that the equation

¥ = (V5 +28) v +5n =29 =0
has one positive integral root.
Find the value of n.

o’ +12B.
30

s AN

tanA+tanB _ 2c

tanB  3b
and A =x°. Find the value of x.

In A4BC,

131
71—
\ y A
\
The figure shows/ l\ \
two identical —
golden triangles v
(an isosceles triangle with vertical
angle 36°). Find the value of x.
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